
COD . MSRP DESCRIPTION

SS30 / 30 / KF € 3 090,00 CHASSIS   SS30/30  CIK-FIA  KF/ MAX /  X30 / M18

SS30 / 30 / KFM € 3 830,00 CHASSIS   SS30/30  CIK-FIA  KF/MAX/X30  + HAND FRONT BRAKE

SS30 / 30 / KZ € 4 140,00 CHASSIS   SS30/30  CIK-FIA  KZ

SS30 / DD2 € 3 640,00 CHASSIS   MAX-DD2

US28 / 102 € 2 770,00 CHASSIS  US28  102

MINI / MAX € 2 150,00 CHASSIS  MINI  MAX 101

MIC / MAX € 2 070,00 CHASSIS  MICRO MAX 95

MINI / MS95 € 2 070,00 CHASSIS  MINI  SCOUT 60  ITALIA

MINI / D95 € 2 070,00 CHASSIS  MINI  MSA      UK / DMSB  GERMANY

MINI / X30 CHASSIS  MINI  IAME X30  ROOKIE

BABY / 770 CHASSIS  BABY  CHEETAH

30.11.2012

The prices indicated at this list are the manufacturer's suggested retail price (MSRP) and exclude all applicable taxes.

CHASSIS

The prices and the specs are subject to change without notice.



FIG. COD . MSRP DESCRIPTION

1 111/SS30F € 975,00 FRAME  MOD. SS30  CIK-FIA  KF/ MAX /  X30

112/SS30F € 855,00 FRAME  without  D. SLIDER,  CASTER REGULATOR

2 111/SS30Z € 975,00 FRAME  MOD. SS30  CIK-FIA  KZ

112/SS30Z € 855,00 FRAME  without  D. SLIDER,  CASTER REGULATOR

3 110/DD2 € 942,00 FRAME  MOD. MAX-DD2

112/DD2 € 822,00 FRAME  without  D. SLIDER,  CASTER REGULATOR

4 110/US28 € 792,00 FRAME MOD. US28 102

112/US28 € 696,00 FRAME  without   CASTER REGULATOR

5 110/MAX01 € 792,00 FRAME  MINI  MAX 101

112/MAX01 € 672,00 FRAME  without  D. SLIDER,  CASTER REGULATOR

6 110/MAX95 € 784,00 FRAME  MICRO MAX 95

112/MAX95 € 664,00 FRAME  without  D. SLIDER,  CASTER REGULATOR

6 110/MS95 € 784,00 FRAME  MINI  CSAI 95   SCOUT 

112/MS95 € 664,00 FRAME  without  D. SLIDER,  CASTER REGULATOR

6 110/D95 € 784,00 FRAME  MINI  MSA  UK / DMSB  GERMANY

112/D95 € 664,00 FRAME  without  D. SLIDER,  CASTER REGULATOR

6 110/ROOK € 784,00 FRAME  MINI  IAME  X30   ROOKIE

112/ROOK € 664,00 FRAME  without  D. SLIDER,  CASTER REGULATOR

7 110/B770 FRAME  BABY  CHEETAH

1,01                                                    FRAME  

The prices indicated at this list are the manufacturer's suggested retail price (MSRP) and exclude all applicable taxes.

The prices and the specs are subject to change without notice.



FIG. COD . MSRP DESCRIPTION

1 510/101D € 38,00 ACCELERATOR  PEDAL  D12  with  PIVOT                               

2 510/102D € 38,00 ACCELERATOR  PEDAL  D14  with  PIVOT   (OPTION)                            

3 511/600D € 38,00 ACCELERATOR  PEDAL  MIMI  2010 with  PIVOT                                       

4 410/102S € 38,00 BRAKE  PEDAL  D14 with  PIVOT                                                               

5 411/600S € 38,00 BRAKE  PEDAL   MINI  2010 with   PIVOT                                                     

6 510/001 € 3,90 PEDAL  PIVOT  ASS’Y                                                        

7 510/002 € 1,40 PEDAL  RETURN  SPRING                                                    

8 510/003 € 1,40 CABLE  REGISTER                                                                

9 510/200 € 46,70 FOOT REST  STANDARD                                                   

10 420/020 € 17,50 REAR  BRAKE  CABLE  COMPLETE                                     
11 420/032 € 2,00 FORK  M6  SHORT

12 420/033 € 2,40 FORK  M6  LONG

    

13 420/040 € 48,40 BRAKE  REGULATER  COMPLETE   KZ  

14 420/031 € 6,40 TIE  ROD  Fe  Ø6                                                                

15 420/004 € 1,60 CABLE  CLAMP  ( KF & KZ )                                               

16 420/005 € 0,80 CABLE  ( KF & KZ )

17 420/006 CABLE  CLAMP  with  FIXING

2,01                                                   PEDAL

The prices indicated at this list are the manufacturer's suggested retail price (MSRP) and exclude all applicable taxes.

The prices and the specs are subject to change without notice.



FIG. COD . MSRP DESCRIPTION
1 250/200 STEERING  WHEEL  Ø350  for  KZ

8 250/101 € 110,00 STEERING  WHEEL  Ø320

2 250/600 € 100,00 STEERING  WHEEL  MINI  Ø300

3 251/001 € 30,00 STEERING  BOSS  Mg                                                         

4 251/003 € 32,70 STEERING  BOSS  Mg  ANGLED 10°                                

5 252/100 € 98,40 STEERING  BOSS  F1
6 252/101 € 28,40 HEXAGON  ADAPTER

7 530/552 € 73,40 CLUTCH  LEVER                              

2,02                                    STEERING WHEEL

The prices indicated at this list are the manufacturer's suggested retail price (MSRP) and exclude all applicable taxes.

The prices and the specs are subject to change without notice.



FIG. COD . MSRP DESCRIPTION
1 230/100 € 34,20 STEERING  COLUMN  KF   L=465                                     

1 230/110 € 34,20 STEERING  COLUMN  KZ   L=485                                     

230/060 € 34,20 STEERING  COLUMN  MINI  L=415

3 230/201 € 23,20 BOTTOM  BRACKET  “DIRECTION SLIDER”  LONG                   

3 230/200 € 23,20 BOTTOM  BRACKET  “DIRECTION SLIDER”  SHORT                   

230/600 € 23,20 BOTTOM  BRACKET  MINI   “DIRECTION SLIDER”                     

4 230/001 € 10,90 BALL  JOINT                                                                       

5 230/002S € 2,50 CIRCLIP  22  I (10pcs)

6 230/128 € 3,70 COLUMN  RING                                                                

7 240/001 € 7,50 COLUMN  TOP SUPPORT  NYLON                                     

8 240/100D € 20,00 COLUMN  SUPPORT  ARM  RH   Ø16  KF                      

9 240/100S € 20,00 COLUMN  SUPPORT  ARM  LH   Ø16  KF                        

240/101D € 20,90 COLUMN  SUPPORT  ARM  RH   Ø18  KF                        

10 240/125D € 25,00 COLUMN  SUPPORT  ARM  RH   Ø18  KZ  (up tp 11/2012)                      

11 240/125S € 20,90 COLUMN  SUPPORT  ARM  LH   Ø18  KF / KZ                        

12 530/001 € 48,40 GEAR  LEVER  KZ  (up tp 11/2012) 

13 530/004 € 3,70 MICRO  BEARING  Ø16 X Ø8  (up tp 11/2012) 

14 530/002 € 21,00 KNOB

15 530/510 € 7,20 GEAR LEVER  SHAFT  COMPLETE  (up tp 11/2012)                                    

16 530/200 GEAR  LEVER  KZ (from 12/2012)

17 530/210 GEAR  LEVER  SHAFT COMPLETE  (from 12/2012)

2,03                                       STEERING COLUMN

The prices indicated at this list are the manufacturer's suggested retail price (MSRP) and exclude all applicable taxes.

The prices and the specs are subject to change without notice.



FIG. COD . MSRP DESCRIPTION
1 220/199 € 14,70 TIE  ROD  MINI  Al  L=199           COLOR  BLACK                      

1 220/205 € 14,70 TIE  ROD  MINI  Al  L=205           COLOR  BLACK                      

1 220/210 € 14,70 TIE  ROD  MINI  Al  L=210           COLOR  BLACK                      

1 220/239 € 14,70 TIE  ROD  MINI  Al  L=239           COLOR  BLACK                     

1 220/245 € 14,70 TIE  ROD  Al  L=245           COLOR  BLACK                                                                               

1 220/249 € 14,70 TIE  ROD  Al  L=249           COLOR  BLACK                     

1 220/258 € 14,70 TIE  ROD  Al  L=258           COLOR  BLACK                                                                               

1 220/260 € 14,70 TIE  ROD  Al  L=260           COLOR  BLACK                                            

1 220/272 € 14,70 TIE  ROD  Al  L=272           COLOR  BLACK                     

1 220/277 € 14,70 TIE  ROD  Al  L=277           COLOR  BLACK                     

1 220/282 € 14,70 TIE  ROD  Al  L=282           COLOR  BLACK                                                                               

1 220/286 € 14,70 TIE  ROD  Al  L=286           COLOR  BLACK                     

1 220/293 € 14,70 TIE  ROD  Al  L=293           COLOR  BLACK                     

2 220/001D € 7,50 ROD  END  JAM  M8  RH                                                  

3 220/001S € 7,50 ROD  END  JAML  M8  LH                                               

4 220/002D € 0,20 NUT  M8  RH  13mm HEXAGON

220/003D € 1,00 NUT  M8  RH  10mm HEXAGON

5 220/002S € 0,70 NUT  M8  LH   13mm HEXAGON

220/003S € 1,00 NUT  M8  LH   10mm HEXAGON

6 530/520 € 28,20 CHANGE  LEVER  LINK  COMPLETE  Al  KZ  
7 530/005 € 14,20 CHANGE  LEVER  ROD Al                                              

8 220/001D € 7,50 ROD  END  JAM  M8  DX                                                 

9 220/002D € 0,20 NUT  M8  RH  13mm  HEXAGON

220/003D € 1,00 NUT  M8  RH  10mm  HEXAGON

2,04                                        TIE ROD

The prices indicated at this list are the manufacturer's suggested retail price (MSRP) and exclude all applicable taxes.

The prices and the specs are subject to change without notice.



FIG. COD . MSRP DESCRIPTION
1 211/500K € 48,40 CASTER  REGULATOR ASSEMBLY                                                       

2 211/001 € 4,20 KING  PIN  Ø10 X 84                                                          

210/001 € 3,20 KING  PIN  Ø 8 X 80                                                         

3 211/002 € 6,50 HEXAGON  ECCENTRIC  INSERT  Ø10                              

3 211/012 € 7,50 HEXAGON  ECCENTRIC  INSERT  Ø 10 - 1.5                              

210/002 € 6,50 HEXAGON  ECCENTRIC  INSERT  Ø 8                              

4 211/003 € 2,70 KING PIN  SPACER   AL  Ø10 X Ø30 X 4,5                         

210/003 € 2,70 KING PIN  SPACER   AL  Ø 8 X Ø30 X 4,5                         

5 W10X18S € 8,40 SET WASHERS   Ø10 X Ø18 X 2 (100pcs)
210/004S € 3,40 WASHER  BAUER  Ø 8   (10pcs)

6 211/005 € 4,70 BEARING  6000ZZ  Ø10                                                      

210/005 € 3,20 BEARING  608ZZ  Ø 8                                                        

7 211/006 € 1,70 BEARING  SPACER  Ø10 X 24,5                                        

210/006 € 1,70 BEARING  SPACER  Ø 8 X 26,5                                          

8 211/510 € 4,40 NUT   M14 X 1.5                                                                 

9 211/511 € 0,50 C-CLIP

10 210/512 € 3,00 RUBBER  CAP

11 GR6X12K € 3,40 SET SCREW  M6X12 (4pcs)

         

12 210/025 € 8,40 TOOL  HEXAGON RENCH 25  FOR  ECCENTRIC INSERT 

13 210/026 € 134,00 DIGITAL CASTER ANGLE GAUGE

14 701/001 € 95,00 2DISCS ALIGNMENT Ø260 Mg for SPINDLE Ø17 

14 701/002 € 95,00 2DISCS ALIGNMENT Ø260 Mg for SPINDLE Ø25 

2,05                                      STUB AXLE

The prices indicated at this list are the manufacturer's suggested retail price (MSRP) and exclude all applicable taxes.

The prices and the specs are subject to change without notice.



FIG. COD . MSRP DESCRIPTION

211/303D € 80,90 STUB AXLE  BODY  RH  with FRONT BRAKE       

1 211/303S € 80,90 STUB AXLE  BODY  LH   with FRONT BRAKE    

211/600D € 70,00 STUB AXLE  BODY   RH  without FRONT BRAKE  / MINI    

2 211/600S € 70,00 STUB AXLE  BODY   LH  without FRONT BRAKE   / MINI    

210/062D € 58,40 STUB AXLE  8/8  RH  for  BABY KART

20 210/062S € 58,40 STUB AXLE  8/8  LH  for  BABY KART

3 211/201 € 22,50 AXLE  SPINDLE  Ø17                                                                               

211/600 € 22,50 AXLE  SPINDLE  MINI  SCOUT  Ø17                                                                               

4 211/202 € 27,50 AXLE  SPINDLE  Ø25                                                                          

5 210/007 € 1,70 TREAD  SPACER  AL  Ø17 X 10                                          

6 210/008 € 1,70 TREAD  SPACER  AL  Ø17 X  5                                            

7 210/011S € 8,00 SET TRACK SPACER AL Ø25  (5pcs)

8 210/012 € 2,20 TREAD  SPACER  AL  Ø25 X 10                                           

9 210/013 € 1,90 TREAD  SPACER  AL  Ø25 X  5                                           

10 210/009 € 1,70 AXLE SPINDLE  NUT  M14                                                      

11 210/014 € 3,00 WASHER  Al  Ø14  FOR  AXLE  SPINDLE  Ø25                    

12 TB10X30 € 1,40 BUTTON HEAD SCREW  M10 X 30

13 211/340 € 57,50 DISC-HUB  CARRIER  Ø50/17  Mg  for  FRONT  BRAKE  (BODY ONLY)            

14 210/010 € 3,90 BEARING  6003ZZ  Ø17                                                                   

15 586/820 € 3,40 KEY  8X50/2P  Ø6                                                               

      

16 211/330 € 57,50 DISC-HUB  CARRIER  Ø50/25  Mg  for  FRONT  BRAKE   (BODY ONLY)         

17 573/025 € 5,90 BEARING  6905ZZ  Ø25                                                      

18 574/005 SPACER ANTISLIP  5mm  for  Ø50 HUBS

19 574/010 SPACER ANTISLIP  10mm  for  Ø50 HUBS

   

2,05                                      STUB AXLE

The prices indicated at this list are the manufacturer's suggested retail price (MSRP) and exclude all applicable taxes.

The prices and the specs are subject to change without notice.



FIG. COD . MSRP DESCRIPTION
1 585/510 € 104,00 AXLE  Ø50  ORANGE   EXTRA SOFT

2 585/520 € 104,00 AXLE  Ø50  RED   SOFT

3 585/530 € 104,00 AXLE  Ø50  GREEN  HARD

4 585/540 € 104,00 AXLE  Ø50  YELLOW   MEDIUM

5 585/550 € 104,00 AXLE  Ø50  BLUE   EXTRA  HARD

4 585/541 € 142,00 AXLE  Ø50 YELLOE MEDIUM  CALIBRATED

5 585/551 € 142,00 AXLE  Ø50  BLUE   EXTRA  HARD CALIBRATED

3 585/630 € 110,00 AXLE  Ø50 KZ GREEN HARD  (with INSERT)

4 585/640 € 110,00 AXLE  Ø50 KZ YELLOW MEDIUM (with INSERT)

5 585/650 € 110,00 AXLE  Ø50  KZ BLUE   EXTRA  HARD (with INSERT)

587/500 € 11,70 STEEL  INSERT  Ø46 X 100  FOR  AXLE  Ø50

585/400 € 96,70 AXLE  Ø40  THICKNESS 2mm 

6 585/410 € 90,00 AXLE  Ø40  THICKNESS 3mm  SOFT

7 585/420 € 90,00 AXLE  Ø40  THICKNESS 3mm  MEDIUM

8 585/430 € 90,00 AXLE  Ø40  THICKNESS 4mm  HARD

10 585/320 € 80,00 AXLE  Ø30  HOLLOW  ORANGE  SOFT

11 585/319 € 80,00 AXLE  Ø30  HOLLOW  RED  MEDIUM

12 585/318 € 80,00 AXLE  Ø30  HOLLOW  GREEN  HARD 

585/321 € 80,00 AXLE  Ø30  HOLLOW  THICKNESS 4,5mm  BLACK

13 586/820 € 4,20 KEY  8X50/2P  Ø6                                                               

14 586/830 € 4,20 KEY  8X50/3P Ø8  KZ                                                          

15 586/620 € 4,20 KEY  6X40/2P                                                                        

16 586/654 € 1,20 KEY  6X5X40                                                                        

586/664 € 1,20 KEY  6X6X40                                                                       

586/667 € 1,20 KEY  6X6X70                                                                        

3,01                                     REAR AXLE GROUP

The prices indicated at this list are the manufacturer's suggested retail price (MSRP) and exclude all applicable taxes.

The prices and the specs are subject to change without notice.



FIG. COD . MSRP DESCRIPTION
1 587/905 € 40,00 AXLE  BEARING  Ø50/90                                                 

2 587/805 € 40,00 AXLE  BEARING  Ø50/80                                                 

3 587/804 € 35,00 AXLE  BEARING  Ø40/80                                                

4 587/603 € 30,00 AXLE  BEARING  Ø30                                                      

5 587/325 € 7,50 BEARING  COLLAR  Ø30 - Ø25                                         

6 302/006S € 5,00 SOCKET SET  SCREW 6 UNC (10pcs)

7 302/008S € 5,00 SOCKET SET  SCREW 8 UNC (10pcs)

8 588/905 € 47,50 BEARING  CARRIER   Mg   Ø50/90                                  

9 588/805 € 47,50 BEARING  CARRIER   Mg   Ø40-50/80                              

9 588/806 € 47,50 BEARING  CARRIER Mg  Ø40-50/80 for CALIPER MOUNT                                         

10 588/815 € 61,70 BEARING  CARRIER  ENDURANCE  Mg  Ø40-50/80       

11 588/040 € 31,70 BEARING  CARRIER   Mg   Ø40/80                                  

12 588/030 € 31,70 BEARING  CARRIER   Mg   Ø30

13 588/031 € 31,70 BEARING  CARRIER    Al   Ø30                                         

14 565/050 € 46,70 SPROCKET  CARRIER  Mg   Ø50                                     

15 565/040 € 46,70 SPROCKET  CARRIER  Mg   Ø40                                    

16 565/030 € 46,70 SPROCKET  CARRIER  Mg   Ø30                                    

17 565/025 € 46,70 SPROCKET  CARRIER  Mg   Ø25

18 566/030 € 36,70 SPROCKET  CARRIER  Al   Ø30                                       

19 566/025 € 36,70 SPROCKET  CARRIER  Al   Ø25                                        

20 465/050 € 46,70 DISC  CARRIER  Mg   Ø50                                               

21 465/040 € 46,70 DISC  CARRIER  Mg   Ø40                                               

22 465/030 € 46,70 DISC  CARRIER  Mg   Ø30                                               

23 465/025 € 46,70 DISC  CARRIER  Mg   Ø25

24 466/030 € 36,70 DISC  CARRIER  Al   Ø30                                                 

25 466/025 € 36,70 DISC  CARRIER  Al   Ø25

26 470/630 € 40,00 DISC  CARRIER  Al  FOR  DISC   MINI 2010  Ø30                   

27 465/750 € 60,00 DISC  CARRIER  Mg   Ø50  5 POINTED STAR                  

3,01                                      REAR AXLE GROUP

The prices indicated at this list are the manufacturer's suggested retail price (MSRP) and exclude all applicable taxes.

The prices and the specs are subject to change without notice.



FIG. COD . MSRP DESCRIPTION
1 572/060 € 29,20 FRONT  HUB   Mg   Ø17    L=60                                        

2 572/075 € 36,70 FRONT  HUB   Mg   Ø17    L=75                                        

3 572/090 € 36,70 FRONT  HUB   Mg   Ø17    L=90                                        

4 572/260 € 29,20 FRONT  HUB   Al   Ø17      L=60                                        

5 572/275 € 34,40 FRONT  HUB   Al   Ø17      L=75                                        

6 572/290 € 34,40 FRONT  HUB   Al   Ø17      L=90                                        

7 572/205 € 35,90 FRONT  HUB   Al   Ø17      L=105                                      

8 210/010 € 3,90 BEARING  6003ZZ  Ø17

9 572/370 € 54,00 FRONT  HUB  Mg  Ø25  L=70  complete                        

10 572/390 € 54,00 FRONT  HUB  Mg  Ø25  L=90  complete                         
11 573/025 € 5,90 BEARING  6905ZZ  Ø25

12 573/026 € 3,50 BEARING  SPACER  Ø25  Al                                               

13 572/125 € 40,90 FRONT  HUB  Mg  Ø40    L=50                                         

14 572/572 € 56,70 FRONT  HUB  Mg  Ø50    L=72                                          

15 301/843S € 13,00 SET STUD  BOLTS  M8 X 43  (12pcs)                                                       

3,02                                      FRONT HUB

The prices indicated at this list are the manufacturer's suggested retail price (MSRP) and exclude all applicable taxes.

The prices and the specs are subject to change without notice.



FIG. COD . MSRP DESCRIPTION
1 570/020 € 56,70 REAR  HUB   Mg  Ø50    L=68                                          

2 570/021 € 57,50 REAR  HUB   Mg  Ø50    L=88                                           

3 570/121 € 63,40 REAR  HUB   Mg  Ø50   L=88   1 BOLT  CLAMP

3 570/022 € 63,40 REAR  HUB   Mg  Ø50    L=108                                        

4 570/023 € 65,90 REAR  HUB   Mg  Ø50    L=128                                         

5 570/012 € 41,70 REAR  HUB   Mg  Ø40    L=72                                           

6 570/013 € 44,20 REAR  HUB   Mg  Ø40    L=97                                          

7 570/014 € 47,50 REAR  HUB   Mg  Ø40    L=123                                         

8 570/001 € 40,90 REAR  HUB   Mg  Ø30    L=50                                          

9 570/002 € 42,50 REAR  HUB   Mg  Ø30    L=75                                           

10 570/003 € 44,20 REAR  HUB   Mg  Ø30    L=98

11 571/002 € 35,90 REAR  HUB   Al  Ø30      L=75                                           

12 571/003 € 35,90 REAR  HUB   Al  Ø30      L=98                                           

13 570/030 € 43,40 REAR  HUB   Mg  Ø25    L=58  2 BOLTS                            

14 570/032 € 44,20 REAR  HUB   Mg  Ø25    L=98                                           

15 571/001 € 35,90 REAR  HUB   Al  Ø25      L=98

16 301/843S € 13,00 SET STUD  BOLTS  M8 X 43  (12pcs)                                                         

3,03                                      REAR HUB

The prices indicated at this list are the manufacturer's suggested retail price (MSRP) and exclude all applicable taxes.

The prices and the specs are subject to change without notice.



FIG. COD . MSRP DESCRIPTION

1 580/115 € 50,00 FRONT  WHEEL  Mg   W=115    without  BEAT RETAINER

580/115B € 50,00 FRONT  WHEEL  Al     W=115     without  BEAT RETAINER

2 580/120 € 50,00 FRONT  WHEEL  Mg   W=120     without  BEAT RETAINER

4 580/130 € 52,70 FRONT  WHEEL  Mg   W=130  BACKSPACE= 53   

5 580/130B € 54,20 FRONT  WHEEL  Mg   W=130  BACKSPACE= 43   ! OPTION   

6 580/130C € 54,20 FRONT  WHEEL  Mg   W=130  BACKSPACE=33   ! OPTION 

3 582/126 € 50,00 FRONT  WHEEL  Mg  ONE-PIECE  W=126                         

12 582/120 € 50,00 FRONT  WHEEL  Mg  ONE-PIECE  W=120                         

7 580/001K € 12,00 KIT  BEAD  RETAINER  SCREWS + O-RINGS  (12pcs)

8 580/002S € 1,70 SET  O-RINGS  (20pcs)   

9 580/003 € 1,20 TUBELESS  VALVE

10 DFL/M8AS € 3,00 SET SELF-LOCKING FLANGE  NUTS  M8  (12pcs)

11 DFL/M8SS € 10,00 SET SELF-LOCKING FLANGE  NUTS  M8  10mm HEX (12pcs)

3,04                                      FRONT WHEEL

The prices indicated at this list are the manufacturer's suggested retail price (MSRP) and exclude all applicable taxes.

The prices and the specs are subject to change without notice.



FIG. COD . MSRP DESCRIPTION

13 580/138 € 64,20 REAR  WHEEL   Mg   W=138    without  BEAT RETAINER                                          

1 580/145 € 54,20 REAR  WHEEL   Mg   W=145    without  BEAT RETAINER                                          

580/148B € 54,20 REAR  WHEEL   Al     W=148    without  BEAT RETAINER

2 580/148 € 54,20 REAR  WHEEL   Mg   W=148    without  BEAT RETAINER                                       

3 580/184 € 56,70 REAR  WHEEL   Mg   W=184                                            

4 580/200 € 58,40 REAR  WHEEL   Mg   W=200                                          

5 580/212D € 58,40 REAR  WHEEL   Mg   W=212  BACKSPACE =73                       

6 580/212 € 58,40 REAR  WHEEL   Mg   W=212  BACKSPACE =63                      

7 580/212C € 60,00 REAR  WHEEL   Mg   W=212  CONE TYPE   BACKSPACE =63  

8 580/001K € 12,00 KIT  BEAD  RETAINER  SCREWS + O-RINGS  (12pcs)

9 580/002S € 1,70 SET  O-RINGS  (20pcs)   

10 580/003 € 1,20 TUBELESS  VALVE

11 DFL/M8AS € 3,00 SET SELF-LOCKING FLANGE  NUTS  M8  (12pcs)

12 DFL/M8SS € 10,00 SET SELF-LOCKING FLANGE  NUTS  M8  10mm HEX (12pcs)

3,05                                       REAR WHEEL

The prices indicated at this list are the manufacturer's suggested retail price (MSRP) and exclude all applicable taxes.

The prices and the specs are subject to change without notice.



FIG. COD . MSRP DESCRIPTION

1 581/130 € 54,20 ST50 FRONT WHEEL Mg  W=130  BACKSPACE = 53

15 581/130C € 55,90 ST50 FRONT WHEEL Mg  W=130  BACKSPACE = 33

16 581/184 € 58,40 ST50 REAR WHEEL  Mg  W=184  BACKSPACE = 63                                      

2 581/212 € 60,00 ST50 REAR  WHEEL   Mg   W=212  BACKSPACE = 63                                            

17 581/212D € 60,00 ST50 REAR  WHEEL   Mg   W=212  BACKSPACE = 73                                          

3 580/001K € 12,00 KIT  BEAD  RETAINER  SCREWS + O-RINGS  (12pcs)

4 580/002S € 1,70 SET  O-RINGS  (20pcs)   

5 580/003 € 1,20 TUBELESS  VALVE

6 DFL/M8AS € 3,00 SET SELF-LOCKING FLANGE  NUTS  M8  (12pcs)

7 DFL/M8SS € 10,00 SET SELF-LOCKING FLANGE  NUTS  M8  10mm HEX (12pcs)

8 572/055 € 60,00 ST50 FRONT HUB Mg  Ø25 L=90  COMPLETE

9 573/025 € 5,90 BEARING  6905ZZ  Ø25

10 573/026 € 3,50 BEARING SPACER  Ø25  AL

11 572/050 € 60,00 ST50 FRONT HUB Mg  Ø50 L=72  (M6x2BOLTS)

12 572/051 € 63,40 ST50 FRONT HUB Mg  Ø50 L=88  (M8x2BOLTS)

13 570/052 € 65,00 ST50 REAR HUB Mg  Ø50 L=88  (M8x1BOLT)

14 301/843S € 13,00 SET  STUD BOLTS  M8 X 43  (12pcs)

3,06                                      ST50series WHEEL & HUBS

The prices indicated at this list are the manufacturer's suggested retail price (MSRP) and exclude all applicable taxes.

The prices and the specs are subject to change without notice.



FIG. COD . MSRP DESCRIPTION

1 430/200 € 96,70 MASTER  CYLINDER  FT06 / FT14                                                     

2 430/101 € 96,70 MASTER  CYLINDER  MINI                                             
3 430/013K € 10,70 KIT  PISTON  Ø24

430/115S € 15,90 SEALS  Ø24  (10pcs)

430/014S € 4,20 O-RINGS   Ø24  (10pcs)

4 430/018 € 3,20 RETURN  SPRING

5 430/012 € 13,40 LEVER  FT06 / FT14

6 430/011 € 13,40 LEVER  MINI 

7 SP5X28S € 4,20 PARALLEL  PIN  Ø5 X 28  (10pcs)

8 430/010 € 6,70 DUST  COVER

9 430/016S € 3,20 SET  SEALING  WASHER  Ø5  AL  (20pcs)

10 430/117S € 1,70 SOCKET HEAD CAP SCREWS   M5X10 (10pcs)

11 450/001 € 2,70 CONNECTOR  “ I ”

12 430/300 € 130,00 MASTER  CYLINDER  Ø24 FT06 / FT14 with  RESERVE TANK                    

12 430/400 € 130,00 MASTER  CYLINDER  Ø22  with RESERVE TANK                                                    

12 430/500 € 130,00 MASTER  CYLINDER  Ø19  with RESERVE TANK                                                     
13 430/311K € 14,40 KIT  PISTON  Ø24  AL

440/305S € 15,90 SEALS  Ø24  (10pcs)

430/014S € 4,20 O-RINGS  Ø24  (10pcs)

13 430/411K € 14,40 KIT  PISTON  Ø22  AL

430/405S € 15,90 SEALS  Ø22  (10pcs)

430/404S € 4,20 O-RINGS  Ø22  (10pcs)

13 430/511K € 14,40 KIT  PISTON  Ø19  AL

430/505S € 15,90 SEALS  Ø19  (10pcs)

430/504S € 4,20 O-RINGS  Ø19  (10pcs)

14 431/018 € 3,20 RETURN  SPRING  for  M/CYLINDER Ø24 . Ø22

432/307 € 3,20 RETURN  SPRING  for  M/CYLINDER Ø19

15 430/312 € 14,40 LEVER  S

16 SP5X22S € 4,20 PARALLEL  PIN  Ø5 X 22  (10pcs)

17 430/313 € 9,70 RESERVE TANK CAP &  DIAPHRAGM

TB8X45S € 6,70 BUTTON HEAD SCREW  M8 X 45  (10pcs)

430/000 € 36,70 BRAKE  FLUID  SUPER BLUE RACING   1L

4,01                                      BRAKE MASTER CYLINDER

The prices indicated at this list are the manufacturer's suggested retail price (MSRP) and exclude all applicable taxes.

The prices and the specs are subject to change without notice.



FIG. COD . MSRP DESCRIPTION
1 432/100 € 210,00 HAND  MASTER CYLINDER  FT14- M  with RESERVE TANK

2 432/001 € 47,70 HAND  LEVER

3 432/002 € 33,40 LEVER  HOLDER

4 432/003 € 5,70 ADJUSTER  SCREW

5 432/004K € 15,00 KIT  PISTON  Ø14  

432/005S € 15,90 SEALS  Ø14  (10pcs)

436/006S € 4,20 O-RINGS  Ø14  (10pcs)

6 432/307 € 3,00 RETURN  SPRING

7 430/117S € 1,70 SOCKET HEAD CAP SCREWS  M5X10  (10pcs)

8 430/016S € 3,20 SET  SEALING  WASHER  Ø5  AL  (20pcs)

9 450/003 € 3,20 BRAKE  HOSE  CONNECTOR  “ L ”

10 432/009 € 3,50 RESERVE  TANK  CONNECTOR

11 432/008 € 9,70 RESERVE  TANK

12 432/010 € 0,40 TUBE

13 420/032 € 2,40 FORK  M6  SHORT

4,01                                      BRAKE MASTER CYLINDER

The prices indicated at this list are the manufacturer's suggested retail price (MSRP) and exclude all applicable taxes.

The prices and the specs are subject to change without notice.



FIG. COD . MSRP DESCRIPTION

1 440/700 € 227,00 REAR  BRAKE  CALIPER  FT-F / FT-Z                           
2 440/704K € 20,00 KIT PISTON  Ø32 [2X (PISTONS,SEALS, O-RINGS)] 1xO-ring

3 440/724K KIT STEEL PISTON Ø32  (2pcs)

5 440/715S € 15,90 SEALS  Ø32  (10pcs)

4 440/714S € 4,20 O-RINGS  Ø32  (10pcs)

5 440/012S € 43,40 SET BRAKE  PAD   FT06 (2pcs)

6 440/708S € 5,00 SET SHIMS  (6pcs)

7 440/309S € 1,70 SET  O-RING  Ø7  (10pcs)

8 440/020K € 10,00 KIT  BRAKE PAD  GUIDE  SCREW  ASS’Y  (4pcs)

9 440/019S € 3,40 SET  RETURN  SPRING    (4pcs)

10 450/700 € 9,40 BLEED BOLT  WITH  NIPPLE  M7

11 450/702 € 2,70 SPACER BLEED BOLT

12 450/703 € 5,50 HOSE  FIX BOLT  M10

13 450/704S € 4,20 SEALING  WASHER  (10pcs)

14 440/421 € 31,70 MOUNT ADAPTER 

15 450/705 € 30,00 BRAKE  HOSE  Ø8    L=705   

4,02                                      BRAKE CALIPER

The prices indicated at this list are the manufacturer's suggested retail price (MSRP) and exclude all applicable taxes.

The prices and the specs are subject to change without notice.



FIG. COD . MSRP DESCRIPTION

1 440/500 € 164,00 REAR  BRAKE  CALIPER  FT06 / FT14                            
2 440/503 € 14,90 PAD CLEARANCE  ADJUSTER  M16

2 440/513 € 14,90 PAD CLEARANCE  ADJUSTER  M16  SHORT  L=74mm

3 440/504K € 20,00 KIT PISTON  Ø28 [2X (PISTONS,SEALS, O-RINGS)]

4 440/515S € 15,90 SEALS  Ø28   (10pcs)

5 440/514S € 4,20 O-RINGS  Ø28  (10pcs)

6 440/012S € 43,40 SET BRAKE  PAD   FT06 (2pcs)

7 440/020K € 10,00 KIT  BRAKE PAD  GUIDE  SCREW  ASS’Y  (4pcs)

8 440/019S € 3,40 SET  RETURN  SPRING  / HARD  (4pcs)

440/519S € 3,40 SET  RETURN  SPRING  / SOFT  (4pcs)

9 430/016S € 3,20 SET  SEALING  WASHER  Ø5  Al (20pcs)

10 430/117S € 1,70 SOCKET HEAD CAP SCREWS  M5X10  (10pcs)

11 450/003 € 3,20 BRAKE HOSE  CONNECTOR  “ L ”

12 450/004 € 5,50 BRAKE HOSE  CONNECTOR  “ Y ”

13 440/420 € 31,70 MOUNT ADAPTER ( from  04/2010 )

14 450/725 € 22,40 BRAKE  HOSE  Ø8  ( R )  L=725   

15 450/285 € 17,20 BRAKE  HOSE  Ø8  ( R )  L=285   

450/750 € 22,40 BRAKE  HOSE  Ø8  ( R )  L=750   ( Op. )

450/610 € 22,40 BRAKE  HOSE  Ø8  ( R )  L=610   ( Op. )

450/590 € 22,40 BRAKE  HOSE  Ø8  ( R )  L=590   ( Op. )

450/540 € 22,40 BRAKE  HOSE  Ø8  ( R )  L=540   ( Op. )

4,02                                      BRAKE CALIPER

The prices indicated at this list are the manufacturer's suggested retail price (MSRP) and exclude all applicable taxes.

The prices and the specs are subject to change without notice.



FIG. COD . MSRP DESCRIPTION

1 440/300D € 150,00 FRONT  CALIPER  RH     FT14                                           

2 440/300S € 150,00 FRONT  CALIPER  LH      FT14                                          
3 440/304K € 19,40 KIT  PISTONS  Ø24  [2X (PISTONS, SEALES, O-RINGS), 1XO-RING] 

4 440/315S € 15,90 SEALS  Ø24    (10pcs) 

5 440/306S € 4,20 O-RINGS   Ø24   (10pcs)

6 440/307S € 30,00 SET  BRAKE  PADS  FT14  (2pcs)

440/308 € 8,00 SET  SHIM  ( 0,6mmX4    1,0mmX6 )  FOR  1CALIPER

7 440/308A € 0,90 SHIM  0.6mm

7 440/308B € 0,90 SHIM  1.0mm

8 440/309S € 1,70 SET  O-RINGS  Ø7 (10pcs)

9 440/320K € 8,20 KIT  BRAKE  PAD  GUIDE  SCREWS  with SOFT SPRINGS (4pcs)

10 440/321S € 3,00 RETURN  SPRINGS  / SOFT  (4pcs)

11 440/312 € 10,90 ADAPTER  for  KZ  Ø150mm  DISC

12 450/300 € 8,00 BLEED BOLT  with NIPPLE  M7

14 450/302 € 4,70 HOSE  FIX  BOLT  SHORT

15 450/303S € 4,20 SEALING  WASHER  (10pcs)

16 440/301 € 11,70 SPACER  for  VENTILATED DISC

17 450/005 € 6,90 BRAKE  HOSE  CONNECTOR  “ T ”

18 451/460 € 20,90 BRAKE  HOSE  Ø6  RH / LH   L=460  KF

19 451/625 € 21,70 BRAKE  HOSE Ø8  CENTER  L=625    KF               

20 452/460 € 30,00 BRAKE  HOSE  Ø8  RH / LH   L=460   KZ

21 452/510 € 21,70 BRAKE  HOSE Ø8  CENTER  L=510    KZ             

4,02                                      BRAKE CALIPER

The prices indicated at this list are the manufacturer's suggested retail price (MSRP) and exclude all applicable taxes.

The prices and the specs are subject to change without notice.



FIG. COD . MSRP DESCRIPTION

1 440/600 € 150,00  CALIPER  MINI                                                
2 440/304K € 19,40 KIT  PISTONS  Ø24  [2X (PISTONS, SEALES, O-RINGS), 1XO-RING]  

3 440/315S € 15,90 SEALS  Ø24  (10pcs)   

440/306S € 4,20 O-RINGS  Ø24   (10pcs)

5 440/307S € 30,00 SET  BRAKE  PADS    FT14  (2pcs)

440/308 € 8,00 SHIM  SET ( 0,6mmX4   1,0mmX6 )  

6 440/308A € 0,90 SHIM  0.6mm

6 440/308B € 0,90 SHIM  1.0mm

7 440/309S € 1,70 SET  O-RINGS  Ø7 (10pcs)

8 440/310K € 8,20 KIT  BRAKE  PAD  GUIDE  SCREWS  with  HARD SPRINGS (4pcs)

9 440/311S € 3,00 SET  RETURN  SPRINGS / HARD  (4pcs)

10 440/603 € 24,70 MOUNT ADAPTER  

11 440/604 € 2,00 SPACER Ø20 X 10

440/312 € 10,90 ADAPTER  for  Ø180mm  DISC

12 450/300 € 8,00 BLEED BOLT  WITH NIPPLE  M7

14 450/601 € 4,70 HOSE  FIX  BOLT  LONG

15 450/602S € 5,00 SEALING  WASHERS   Ø8/Ø10  (2pcs)

16 452/710 € 30,00 BRAKE  HOSE  Ø8     L=710

452/770 € 30,00 BRAKE  HOSE  Ø8     L=770   MINI MAX  101

4,02                                     BRAKE CALIPER

The prices indicated at this list are the manufacturer's suggested retail price (MSRP) and exclude all applicable taxes.

The prices and the specs are subject to change without notice.



FIG. COD . MSRP DESCRIPTION

1 441/100 € 100,00 REAR MECHANICAL  CALIPER

2 441/013 € 4,60 PISTON

3 440/012S € 43,40 SET  BRAKE PAD (2pcs)

4 440/020K € 10,00 KIT  PAD GUIDE SCREWS  with  HARD  SPRINGS  (4pcs)

5 440/019S € 3,40 SET  SPRINGS / HARD  (4pcs)

6 440/021 € 1,40 PAD  CLEARANCE  SPACER  1.5mm  Al

440/023 PAD  CLEARANCE  SPACER  1.0mm  Al  (Op.)

7 440/022 € 13,30 SPACER  Mg

8 441/009 € 2,00 MOUNT  SPACER  Ø8 X Ø20 X 20

9 441/015 € 2,00 BRAKE  CABLE  BARREL

10 420/001 MECHANICAL  BRAKE  CABLE

11 420/002 CABLE  OUTER  SHELL

12 420/003 € 6,20 DOUBLE  CABLE  REGISTER  SUPPORT

13 420/004 € 1,60 CABLE   CLAMP

4,03                       MECHANICAL  BRAKE  CALIPER

The prices indicated at this list are the manufacturer's suggested retail price (MSRP) and exclude all applicable taxes.

The prices and the specs are subject to change without notice.



FIG. COD . MSRP DESCRIPTION

1 460/314 € 42,50 DISC ROTOR   Ø140 X 3mm      FT14-M                                            

2 460/315 € 48,40 DISC ROTOR   Ø150 X 4mm      FT14-P                           

460/316 € 55,00 DISC ROTOR   Ø160 X 5mm                                                

3 460/326 € 79,20 VENTILATED  DISC ROTOR  Ø150 X 10mm  FT-Z              

5 460/627 € 81,70 FLOATING DISC ROTOR  MINI  Ø170 X 5mm                                    

6 460/109 € 41,40 DISC  ROTOR  BABY  Ø185 X 3,3mm

7 460/700 € 98,40 VENTILATED  DISC ROTOR  Ø196 X 15  FT-F / FT-Z

8 460/107 € 93,40 VENTILATED  DISC ROTOR  Ø205 X 16   FT14                  

9 460/100 € 80,00 VENTILATED  DISC ROTOR  Ø205 X 10  FT100                

4,03                                      DISC ROTOR

The prices indicated at this list are the manufacturer's suggested retail price (MSRP) and exclude all applicable taxes.

The prices and the specs are subject to change without notice.



FIG. COD . MSRP DESCRIPTION
1 520/030 € 63,40 ENGINE  MOUNT  Mg  Ø30  ANGLED                             

1 520/032 € 63,40 ENGINE  MOUNT  Mg  Ø32  ANGLED                            

2 520/130 € 63,40 ENGINE  MOUNT  Mg Ø30  FLAT                                    

2 520/132 € 63,40 ENGINE  MOUNT  Mg  Ø32  FLAT                                    

3 521/030 € 17,50 FRONT  ENGINE MOUNT  CLAMP                                   

4 521/032 € 17,50 REAR  ENGINE MOUNT  CLAMP                                     

5 520/001 € 8,20 ENGINE MOUNT  REGISTER                                               

6 520/500 ENGINE MOUNT  REGISTER  for  KZ                                             

520/000 € 10,00 DRILLING

5,01                                      ACCESSORY

The prices indicated at this list are the manufacturer's suggested retail price (MSRP) and exclude all applicable taxes.

The prices and the specs are subject to change without notice.



FIG. COD . MSRP DESCRIPTION
1 710/100 € 83,00 WATER  PUMP

2 710/001 € 28,40 PULLEY  Mg  Ø50

2 710/002 € 28,40 PULLEY  Mg  Ø40

3 710/003 € 1,40 BELT  SHORT

3 710/004 € 1,40 BELT  LONG

3 710/006 € 2,20 BELT  EXTRA LONG

4 710/005 € 8,40 WATER PUMP  SUPPORT  STAY  Mg

5 720/000 € 5,00 IGNITION  PANEL   ROTAX  MAX

6 720/102 € 24,70 BATTERY  HOLDER

7 720/210 € 24,70 DISC  GUARD

720/201 € 5,90 DISC  GUARD  SHOE

8 711/255 RADIATOR   RADIATEC 255  width = 255mm   with  STAY, CONNECTOR

8 711/265 RADIATOR   RADIATEC 265  width = 265mm   with  STAY, CONNECTOR

8 711/285 RADIATOR   RADIATEC 285  width = 285mm   with  STAY, CONNECTOR

W08X13S € 5,00 SET  WASHERS  Ø8 X Ø13 X 1,5  (100pcs)

W10X18S € 8,40 SET  WASHERS  Ø10 X Ø18 X 2,0  (100pcs)

10 DAU/M8S € 8,40 SET  SELF-LOCKING NUTS  M8  (50pcs)

11 DAU/M6S € 5,90 SET  SELF-LOCKING NUTS  M6  (50pcs)

12 DFL/M6AS € 8,40 SET  SELF-LOCKING FLANGE NUTS  M6  (50pcs)   

CAR/KG1 € 199,00 KART CARRIER  KG

13 CAR/T01 € 222,00 KART CARRIER  TECNO

14 CAR/ESP KART  DISPLAY  STAND

5,01                                      ACCESSORY

The prices indicated at this list are the manufacturer's suggested retail price (MSRP) and exclude all applicable taxes.

The prices and the specs are subject to change without notice.



FIG. COD . MSRP DESCRIPTION

1 550/100 € 18,30 EXHAUST CHAMBER  SUPPORT  COMPLETE                   
2 550/001 € 1,10 CHAMBER  SPRING

3 550/002 € 1,00 RUBBER  BUSH

4 640/001 € 1,00 WASHER  Al

5 554/100 € 5,90 EXTENSION  PLATE  5 X 25  L=110                                     

6 554/200 € 6,40 EXTENSION  PLATE  5 X 25  L=140                                  

7 551/100 € 22,50 EXHAUST CHAMBER SUPPORT  STAY  TOSHI

8 551/101 € 22,50 EXHAUST CHAMBER SUPPORT  STAY  KF                        

9 552/100 € 22,50 EXHAUST CHAMBER SUPPORT  STAY  MINI                    

10 553/126 € 80,00 EXHAUST CHAMBER  SUPPORT  KZ   COMPLETE 

11 553/127 € 48,00 EXHAUST CHAMBER  SUPPORT  MAX   COMPLETE      
12 553/125 € 27,40 STAY  Al

13 599/999 € 2,20 CHAIN  GUARD  STAY

14 590/200 € 38,40 CHAIN  GUARD  KG  MOD.2009

15 300/270 € 14,20 TORSION  BAR  ( F )  W=270                                            

300/190 € 14,20 TORSION  BAR  ( F )  W=190   MINI 

16 300/470 € 16,40 TORSION  BAR  ( R )  W=470                                            

16 300/410 € 16,40 TORSION  BAR  ( R )  W=410   MINI

17 300/028 € 12,40 TUBE  CLAMP  Ø28                                                            

310/028 € 24,70 REAR TUBE STIFFENER  for  Ø28  MINI

310/030 € 24,70 REAR TUBE STIFFENER  for  Ø30

5,01                                      ACCESSORY

The prices indicated at this list are the manufacturer's suggested retail price (MSRP) and exclude all applicable taxes.

The prices and the specs are subject to change without notice.



FIG. COD . MSRP DESCRIPTION
1 540/200 FUEL TANK  9,5L

2 540/109 € 40,90 FUEL  TANK  10L                                                              

3 540/111 € 15,00 TANK  FIX  PLATE  Mg                                                       

4 540/112 € 1,50 TANK  FIX  HANDLE

5 540/108 € 31,40 FUEL  TANK  8L

6 540/104 € 24,20 FUEL  TANK  3,5L

7 540/100 € 4,00 OVER  FLOW  CATCH  TANK                                             

8 540/001 € 2,50 TANK  CAP  8L/10L

10 540/004 € 8,00 SUCTION  PIPE  COMPLETE  10L

540/005 € 0,90 FUEL  HOSE    1m

541/002 FUEL  POMP  STAY  for  MAX – DD2

5,02                                       FUEL TANK

The prices indicated at this list are the manufacturer's suggested retail price (MSRP) and exclude all applicable taxes.

The prices and the specs are subject to change without notice.



FIG. COD . MSRP DESCRIPTION
1 640/100 € 61,40 SEAT   SIZE 1/ 2 / 3 / 4

640/200 € 96,70 SEAT  SPECIAL  ELASTIC TYPE    SIZE  1 / 2 / 3 / 4

640/060 € 60,00 SEAT  MINI

2 640/001S € 41,70 SET  SEAT  WASHERS  Al  Ø35 X 3  FLARE  (50pcs)                                                      

3 640/003S € 33,40 SET  SEAT  WASHERS  Al  Ø35 X 3  (50pcs)                                                      

4 640/005S € 33,40 SET  SEAT  WASHERS  Al  Ø50 X 1,5  (50pcs)                                              

5 640/002S € 50,00 SET  SEAT  WASHERS  Al  Ø70 X 1,5  (50pcs)                                         

6 SP8XL € 0,70 COUNTERSUNK HEAD SCREW   M8 X 25 / 35 / 45 / 60 / 70

7 640/220 € 9,40 SEAT  STAY  L=220       FLAT  PROFILE                              

7 640/260 € 9,40 SEAT  STAY  L=260       FLAT  PROFILE                              

7 640/270 € 9,40 SEAT  STAY  L=270       FLAT  PROFILE                              

7 640/285 € 9,40 SEAT  STAY  L=285       FLAT  PROFILE                              

8 640/320 € 9,40 SEAT  STAY  L=320                                                            

8 640/335 € 9,40 SEAT  STAY  L=335                                                            

8 640/355 € 9,40 SEAT  STAY  L=355                                                            

9 641/010 € 32,50 SEAT  STAY  CLAMP  Al  Ø28                                           

5,03                                      SEAT

The prices indicated at this list are the manufacturer's suggested retail price (MSRP) and exclude all applicable taxes.

The prices and the specs are subject to change without notice.



FIG. COD . MSRP DESCRIPTION

600/700 € 61,70 FLOOR TRAY   SS30/30

1 600/100 € 61,70 FLOOR TRAY   SS30 - SS32                                     

600/101 € 63,40 FLOOR TRAY  THICKNESS 2mm   SS30 - SS32     

600/102 € 61,70 FLOOR TRAY   PROMO

2 600/600 € 61,70 FLOOR TRAY   MINI   SCOUT  ITALY

3 600/063 € 61,70 FLOOR TRAY   MINI  DMSB GERMANY                                     

4 600/001 € 8,40 FLOOR TRAY  FIX  KIT (6pcs)
5 600/003S € 1,00 RUBBER  WASHER  Ø6   (10pcs)

6 600/004S € 10,00 FLARE  WASHER  Al   (10pcs)

7 600/005S € 1,40 WASHER  Fe  Ø18 X Ø6 X 1.5   (10pcs)

8 303/622S € 1,70 SCREW  M6 X 22   (10pcs)

5,04                                      FLOOR TRAY

The prices indicated at this list are the manufacturer's suggested retail price (MSRP) and exclude all applicable taxes.

The prices and the specs are subject to change without notice.



FIG. COD . MSRP DESCRIPTION
1 691/070 € 48,40 FRONT  SPOILER  JET II  RED                                 

2 692/070 € 24,70 FRONT  PANEL  JET II   RED                              

3 693/011D € 42,70 SIDE POD  JET II  RH  RED

4 693/011S € 42,70 SIDE POD  JET II  LH  RED

5 691/011 € 46,00 FRONT  SPOILER  JET 06   RED

6 692/011 € 24,70 FRONT  PANEL  JET 06   RED

7 693/011D € 42,70 SIDE POD  JET 06   RH  RED                 

8 693/011S € 42,70 SIDE POD  JET 06   LH  RED                 

691/013 € 5,70 SPOILER/SIDE POD  CAP  Ø95

9 610/001 € 27,50 FRONT  BUMPER  UPPER  Ø16  CIK                                       

10 610/002 € 14,40 FRONT  BUMPER  LOWER  Ø20  CIK                                      

11 690/070K € 30,00 KIT  FRONT SPOILER SUPPORT  JET II

12 690/001 € 56,70 KIT  FRONT SPOILER SUPPORT  JET 06

13 690/071K € 27,20 KIT  FRONT PANEL STAYS  UPPER & LOWER  JET II

14 690/071 € 12,50 FRONT PANEL STAY UPPER  JET II

23 690/080 FRONT PANEL STAY UPPER  JET II  for  KZ

15 690/072 € 8,70 FRONT PANEL STAY LOWER  JET II

16 690/603K € 2,50 FRONT PANEL FIX BOLT & PIN

17 690/013 € 19,20 KIT  FRONT PANEL STAYS  UPPER & LOWER   JET 06

18 690/010 € 12,50 FRONT PANEL STAY UPPER JET 06

19 690/011 € 8,70 FRONT PANEL STAY LOWER JET 06

20 630/100D € 32,50 SIDE BUMPER RH  JET 06  &  JET II

21 630/100S € 32,50 SIDE BUMPER LH  JET 06  &  JET II

22 630/004S € 10,00 SET  ANTI-VIBRATION RUBBER INSERTS  Ø26-Ø20  (4pcs)

6,01                                     BODY WORK & BUMPER

The prices indicated at this list are the manufacturer's suggested retail price (MSRP) and exclude all applicable taxes.

The prices and the specs are subject to change without notice.



FIG. COD . MSRP DESCRIPTION
1 691/600 € 43,40 FRONT SPOILER MINI KG   MK14

2 692/600 € 22,90 FRONT PANEL  MINI KG   MK14

3 693/600D € 27,50 SIDE POD  MINI  RH  KG  MK14

4 693/600S € 27,50 SIDE POD  MINI  LH  KG  MK14

5 610/601 € 27,50 FRONT BUMPER UPPER  MINI  Ø16

6 610/602 € 14,40 FRONT BUMPER LOWER  MINI  Ø20

7 610/020 € 5,40 FRONT BUMPER CLAMP  KG

8 680/001 € 25,00 KIT  FRONT SPOILER SUPPORT  MINI KG  1009  (2pcs)

9 690/601K € 12,20 KIT  FRONT PANEL STAYS UPPER & LOWER  MINI

10 690/601 € 8,40 FRONT PANEL STAY  UPPER  MINI

11 690/602 € 3,90 FRONT PANEL STAY LOWER  MINI

12 690/603K € 2,50 FRONT PANEL FIX BOLT & PIN

13 630/600D € 30,00 SIDE BUMPER RH KG  MINI  MK14

14 630/600S € 30,00 SIDE BUMPER LH KG  MINI  MK14

6,01                                     MINI  BODY WORK & BUMPER

The prices indicated at this list are the manufacturer's suggested retail price (MSRP) and exclude all applicable taxes.

The prices and the specs are subject to change without notice.



FIG. COD . MSRP DESCRIPTION

1 691/114 € 46,00 FRONT SPOILER  KG  BURU  CIK 14

2 692/114 € 22,90 FRONT PANEL  KG  BURU  CIK  14

3 693/114D € 37,50 SIDE POD RH  KG  STILO  CIK 14

4 693/114S € 37,50 SIDE POD LH  KG  STILO  CIK 14

5 630/110D € 32,50 SIDE BUMPER RH  KG  STILO

6 630/110S € 32,50 SIDE BUMPER LH  KG  STILO

6,01                                     BODY WORK  KG

The prices indicated at this list are the manufacturer's suggested retail price (MSRP) and exclude all applicable taxes.

The prices and the specs are subject to change without notice.



FIG. COD . MSRP DESCRIPTION
1 694/200 € 60,90 REAR SPOILER   KG  CIK  BLACK

694/201 € 60,90 REAR SPOILER   KG  CIK  RED

2 694/001 € 69,20 REAR SPOILER  KG  MINI  TRIS

3 620/100 € 53,40 KIT  REAR SPOILER SUPPORT  CIK & MINI

4 622/128S € 30,00 FIX KIT  REAR SPOILER MINI Ø28 (2pcs)

4 622/130S € 30,00 FIX KIT  REAR SPOILER CIK Ø30 (2pcs)

4 622/132S € 30,00 FIX KIT  REAR SPOILER CIK Ø32 (2pcs)

5 622/003S € 6,40 SET  RUBBER BUSHES  Ø28  (2pcs)

5 622/004S € 6,40 SET  RUBBER BUSHES  Ø30  (2pcs)

5 622/005S € 6,40 SET  RUBBER BUSHES  Ø32  (2pcs)

6,02                                     REAR SPOILER

The prices indicated at this list are the manufacturer's suggested retail price (MSRP) and exclude all applicable taxes.

The prices and the specs are subject to change without notice.



FIG. COD . MSRP DESCRIPTION
1 690/067 € 114,00 SET  STICKERS  TECNO  JET II 

2 690/068 € 60,00 STICKERS for SPOILER/FRONT PANEL TECNO JET II

3 690/064 € 97,00 SET  STICKERS  TECNO  JET 06 

4 690/065 € 49,00 STICKERS for SPOILER/FRONT PANEL TECNO JET 06

5 690/660 € 114,00 SET  STICKERS  TECNO  MINI 

6 900/010 STICKER TECNO 10 X 25

7 900/011 STICKER TECNO 15 X 40

8 900/012 STICKER TECNO 19 X 50

9 900/013 STICKER TECNO 21 X 55

10 900/601 € 2,80 SIDE POD STICKER TECNO

11 900/600 € 2,80 FLOOR PANEL STICKER TECNO

12 900/100 HELMET VISOR STICKER

13 900/540S FUEL TANK STICKER

14 900/001 € 6,50 TAPE TECNO

6,03                                    STICKERS

The prices indicated at this list are the manufacturer's suggested retail price (MSRP) and exclude all applicable taxes.

The prices and the specs are subject to change without notice.



FIG. COD . MSRP DESCRIPTION
1 800/207 € 247,00 DRIVER SUIT  TECNO

800/207P € 330,00 DRIVER SUIT  CUSTOMISED  TECNO

2 800/208 € 314,00 DRIVER SUIT  TECNO  2012

800/208P € 397,00 DRIVER SUIT  CUSTOMISED  TECNO  2012

3 802/080 € 14,00 BASEBALL CAP  TECNO

4 802/072 € 14,00 T -SHIRT  TECNO

5 802/060 PIT-SHIRT  TECNO

6 802/050 € 30,00 POLO-SHIRT  SHORT-SLEEVE  TECNO

7 802/090 € 30,00 POLO-SHIRT  LONG-SLEEVE  TECNO

8 802/110 € 36,70 SHORTS  TECNO

9 802/100 € 71,70 PANTS  TECNO

10 802/041 € 36,70 SWEAT SHIRT  TECNO

11 802/031 € 50,00 FLEECE  JACKET  TECNO

12 802/020 € 74,20 VEST  TECNO 

13 802/021 € 51,70 VEST  SOHTSHELL

802/010 WINTER JACKET  TECNO

14 802/011 € 65,00 WINTER JACKET  ECO

803/002 € 38,40 KART COVER  TECNO

15 810/001 € 81,70   TROLLEY  BAG  TECNO

7.01                                      APPAREL

The prices indicated at this list are the manufacturer's suggested retail price (MSRP) and exclude all applicable taxes.

The prices and the specs are subject to change without notice.


	CHASSIS
	FRAME
	PEDAL
	STEERING WHEEL
	STEERING COLUMN
	TIE ROD
	STUB AXLE 1
	STUB AXLE 2
	REAR AXLE GROUP 1
	REAR AXLE GROUP 2
	FRONT HUB
	REAR HUB
	FRONT WHEEL
	REAR WHEEL
	ST50 WHEEL & HUB
	BRAKE MASTER CYLINDER 1
	BRAKE MASTER CYLINDER 2
	R-BRAKE CALIPER 1
	R-BRAKE CALIPER 2
	F-BRAKE CALIPER
	R-BRAKE CALIPER MINI
	MECHANICAL CALIPER
	DISC ROTOR
	ACCESSORY 1
	ACCESSORY 2
	ACCESSORY 3
	FUEL TANK
	SEAT
	FLOOR TRAY
	BODY WORK 1 
	BODY WORK MINI
	BODY WORK 2
	REAR SPOILER
	STICKER
	APPAREL

